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185. fxzsin xdx-"?.v sSin x— (.r2 - 2) Cos x

186, f.x-msin xdx= — xMcos x + mfx”"lcos xdx

Lt

187. x Cos xdx=cas x+ x sin x

188. fxecos xdx=2x cos x+(«* - 2)sin

8¢9, *eos xdx= xMsin x— mfxm']sin xdx
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190. f = _jogt (i+__)
sin x+cos x V 2 g tan 2 8
» ﬂtal'l*f' +4
o, f At o2 a2
. atésin x Vai—-1b V b= b2
iR >4
X
| atan+ )= V7

f dx = log
. a+bsin x ]/bz-- 2
) ¢ atan%—+b+ V-4

R <3

. ,,,air_, = 2 _1( ﬂ—b x)
192. ‘f (l'l"b COS x 1/;1‘-- [)" tan_ \'I +b tan—é—

7]

X

2

Vib+a taﬂ-’;:,——l/b+a

I 1 Vii-a tan-5+Vitg

.ar .. S
Sowiiooivpato

M a<d
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" dx 1 ( btan x )
193. _ = -if etdil &
J a‘cos3y + HPsinty ab fan

Xt BREZBMERE.

e e e

194, ISin"lxdx'z.r.Siﬂ']x'i‘ I/I - X7
195. f(sln de=xsin TP~ 2+ 2V ] - .2 Hsinle

196, f.\' sin™lxdx = —é"_- { 232~ Dsinle+x v~ 2 }

1 { YA
nein=l o g = n+ Igin=Ly ~ f_-}___z
197 j‘"‘ sin~ xdx 1 sin® JIC 4

198, fcus“xdxrf' xcos™ ' x—=1 ]~ 2

199 r(cos'lx)?dx= xlcos 1x)?— 2x+ 2V 1 ~ Wfcosx

1 { j st l/!!r :
N -1 = s+ 1y e
200, _fx cos” xdx 3T cos™'x 1/1 — 3

. 1
201. ftan‘lxa’x= x tan-'x— ~2—Ing {1+

L X

202. ‘fxtan‘lxd :—2_ {(x +l)tan \—t}
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203. .J xitan .\{{.\ ”+1 l.\ tan 'y . l+.\"
o, _ 1 | . a
204, I cot"‘xde=x cot'x+ “Qlog(l + 47
205. fx cot~Lvdx = 7L { (*+ ljcot-1x + .1:}
? | S f ny
Meat-l = N4 -1 x 7 ax
206. ‘J aleot "  xdx o 'l.x cot™'x+ . 5o i

207. J sec lxdr=x sec lx—log(v + V' T+ &)

208. r xsec“xdx=%~ {.«:?‘sec-1.x-- vV 2 }

209, I coseC lxdx= x cosecly+ 102(.1: + 1/] 4 xz)
210. fx coseclxdx= —;? {x?COSEC‘Ix-}- 1} |

xu. SEBEKE.

1

211, f;w[;x.:-—earr

] . SRR

ba
Z]Z. ‘f(zburl‘x,——_—"_'z'_‘lq;é'_a“
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219,
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221,

| na e
Xe dx= Pl
a

(@x~ 1)

nSxr
X n -1
fx"ea"rd = - xn ea "r‘d X
a @
) "
n,bar ;
X 7t ~1
J xnabx(fx = J xn (lb"ra'x

&loga_bloga

ﬁf——ew dx=—-] — 4 f—_—ﬂxdx'}
oxh ' n—1 ant an-l

» . * ~
J a%dx - a® log a a~dx
a

Xt (?l -

_fearsm mxdx=
‘fe“"cos mxdx=

fea jl‘S il’lmbxa'x =

‘re“”"cosml)xdx =

1
I)am-l n—1J snt

(q sin mx~m cos mx)

arm

4 qa cos mx+m sin mx)
At

a sin b.:" ?ﬂ:' Z‘COS bx .e“xsinm'lbx
@ +mth

mim — 1)B? . .
+ S+ b Fsin™ 2&xdx

a’ Y mh* ) |

+ mlm — 1)8° [‘tﬂx '

by ~m-2
PR TE cos™*bxdx
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222, flog xdv=1x log % -

223, fx?llog xa’x=x"+1 { log ~ _ ) }
n+1 (r+1)?
22. f(‘“ﬂ' x'dx=x(log ) — n f(log Ve

. I 1 z
225. feaxlog xdx=——¢F"log x ~ ”f L& dx
a a X
dx
226, _— =
‘( < log ~ logllog %)
dx x 1 j' de
221. —_————— = +
f (tog »)" (- Dllog xn-! n—1 (log x)#1
228 _&dx amtl : m+1 f xMdx
) (log x)n (n~ Dllog x)"‘l n—1 (log x)n1
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sin 2x=2 sin x cos ¥, sin 3x=3 sin x— 4 sin®x
- €08 2x= cos’x —sin’x, - - cos 3x=4 cos®’s -3 cos x
. 1 - S’, - ] + 2 o
sm’xf-'-———%o Y cos®x = ——-CQO—Q'L

sin (x*y)=sin x cos y==cos x sin y
cos (x=+y)=cos x cos yFsin x sin y

. . +y Xy
sin x+siny=2 sin2=¥ cos- 21

2 2.

vy x—y
cos x+cosy = 2cos cos—4

2 2

. . xty . o x—yw
cos x — cos y= — 2sin Y sin )

2 2

sin / x-—“-—é—(e”’"' eT), cos /i x:—;—(e-’"+e"5")‘
N = (= a)lx= gP. . . .

(x2 +px+ q)m(x'-’- +rxt S)". . e

b

a

Mx) A S By
x) S ©
R'] N{x) Pl + g (x— a) +§ (x— BY

. 3+px+q)‘
i=

n
2 ij-l'gj
Gl (2 +rx+ J‘)]

" n R 2 n .
(1+x) 1+(I)x+ (2)x+....+(r)x'

+.... (x|«

=14 x+ 2: +%;+ (- w<lx< +00)
sin x = x-;—;z +§'~—.. | oo )
cos x = —g:!— ;—:- ( s )
log (14 5) =x - %+§-§. (=1<x 2l
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